
https://www.leads4pass.com/1z0-1093-23.html
2024 Latest leads4pass 1Z0-1093-23 PDF and VCE dumps Download

 

 

 

1Z0-1093-23Q&As

Oracle Cloud Database Services 2023 Professional

Pass Oracle 1Z0-1093-23 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-1093-23.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1093-23 Dumps | 1Z0-1093-23 Practice Test | 1Z0-1093-23 Study Guide                                1 / 3

https://www.leads4pass.com/1z0-1093-23.html
https://www.leads4pass.com/1z0-1093-23.html
https://www.leads4pass.com/1z0-1093-23.html


https://www.leads4pass.com/1z0-1093-23.html
2024 Latest leads4pass 1Z0-1093-23 PDF and VCE dumps Download

QUESTION 1

Which THREE Oracle Cloud Infrastructure (OCI) services can be used to connect to on- premises networks? (Choose
all correct answers) 

A. Internet Gateway 

B. Fastconnect 

C. Dynamic Routing Gateway (DRG) 

D. Service Gateway 

E. IPSec VPN 

Correct Answer: BCE 

 

QUESTION 2

How many IP addresses do you need at a minimum for the client subnet when you plan to have four Exadata compute
nodes onExadata Cloud Service? 

A. 32 

B. 14 

C. 4 

D. 18 

E. 8 

Correct Answer: D 

 

QUESTION 3

Which tool can be used to monitor a storage server in Exadata Database Service? 

A. dbaascli 

B. exacli 

C. OCI CLI 

D. ocpucli 

Correct Answer: B 

 

QUESTION 4
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NoSQL Database Cloud Service supports all three types of big data. Which is NOT considered big data? 

A. structured data 

B. semi-structured data 

C. unstructured data 

D. free-structured data 

Correct Answer: D 

 

QUESTION 5

For which two reasons do you need a minimum of three storage cells when using Exadata Database Service? (Choose
two.) 

A. High availability 

B. Fast Start Failover of storage cells 

C. Triple mirroring of data 

D. Data Guard 

E. Real Application Clusters 

Correct Answer: AC 
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